A ball is thrown at an original speed of
8.0 m/s at an angle of 30° above the
horizontal. What

is the speed (m/s) of the ball when it
returns to the same horizontal level? use
*g=10 m/s*2

(&t 2)
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A ballistic pendulum consists of a (2 kg)
block hanging vertically on a (1.5 m)
length string. A (10 g) bullet is fired
horizontally into a block with a velocity

of (500 m/s). the bullet embedded in the
block, and the entire system swings

through a height h. The height h (in m)
* above its initial position will the block
(dkai; 2)

0.31

0.45

0.79

0.60
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A mass mis traveling at an
initial speed Vo = 25.0 m/s.
It is brought to rest in @
distance of 62.5 m by @
force of 15.0 N. The mass (in

Kg) is:

—

Selectone: -
300
1.50
3.75
37.5

6.00
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A mass m is traveling at an
initial speed Vo = 20.0 m/s.
It is brought to restin a
distance of 80.0 m by a
force of 15.0 N. The mass (in

Kg) is

SlyLadl as | yas|
1.50

3.75
6.00 ©
37.5
3.00

Clear my choice
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A mass m is traveling at an initiol speed Vo = zsnmh 1t s brought to rest in a distance of 625 m by a force of
150 N The mass (inKg) i« -

Select one

2020 an

BE n
aimii g
100 *
. @ i

37°%

[ La e
] r. Ll
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a ditection of 100" north of sast lor 2 howrs and
nitutte and direction of the plane

A plane lias trom a base o distance 580 km
then flies 190 km 30 07 west ol noth lor | hour The

Select onea.
545 krm at an angle J2¢

150 km ot an angle G0°

362 km at an angle 40° north ol ec

A52 = at ar angle 337 aorth of aast
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In the figure below, the coefficient of static friction between the 2 kg block and the wall is

0.15 What is the minimum value of the force F (in N) necessary to prevent (ci«) the block
from sliding down?

Select one:

1 a. 943
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A mass m is traveling at an initial speed Vo = 20.0 m/s. It is brought to rest in a distance o
80.0 m by a force of 15.0 N. The mass (in Kg) is:

[

Select one:
© 3.00
150
L 3.75
 37.5
' 65.00
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ords as shown. The ratio of the

An object of mass M is suspended from the ceiling by two C
he vertical component in Tl is:

magnitude of the vertical component of the tension in T2 101
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A rod with a cross sectional area A = 4.0 x 103 m? and a
length of L = 5.00 m stretches A L = 0.004 m when

subjected to a tension force of F = 20000 N. Young’s
modulus E for this rod is

a) 500 x 10" N/m? b)3.33x 10" N'm?
¢)625x 10" N/'m? d)7.50 x 101" N'm?
¢)4.00x 10°N' m?
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A box weighing 100 N made of Aluminum is pushed on a
honizontal surface made of steel. Using the information given in

the Table shown below, the minimum force needed 1o Jet the

PovtItRddng s e ————
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The wheel of rodius 0 B0 m shown in the fiqure has three forces apphed to it
Tﬂl’iﬁg toquos that produce counterclockwise rotation as positive. the net
torque(in N m) on the wheo! due to theso throo forces for an aus perpendicular to
the wheel and passing through s conter i

120N

F 4
40.0 120N

oy one
12

‘H
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The mass of planet X is 3.0 x 1024 kg and the aceleration
of gravity on its surface is 3.5 m/s?, if the gravitational
constant G = 6.67 x 10'"! N.m?/kg?. the radius of this
planet R 1s

1) 3.40x 10°m by 298 x 10°m
¢H)403x10°m d)756x 10°m.
e)S72x 103 m
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d Vo =20.0m/s.Itis

A mass m is traveling atan initial spee
by a force of 15.0 N. The

brought to restina distance of 80.0 M
mass (in Kg) is

gelect one.
375 k
375
3.00
150
6.00
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A mass m is traveling at an initial speed Vo = 25.0 m/s. It is brought to rest ina distance of 62.5 m by a force of

15.0 N. The mass (in Kg) is:

Select one:
2 375

e 300
6.00
1.50

3.7%
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A 1.0-kg particle moving horizontally with a speed of
10 m/s strikes a vertical wall for 1.0 ms. It then
rebounds (3_3) with the same speed. The magnitude
of the average force (in kN) on the particle by the
wall is:

(A) zero
(B) 20
(C) 1.0
(D) 5.0
(E) 10

*Take g= 9.8 m/s!



Assume that an object is in equilibrium.
One of the following statements is false

* 2. Which one
(dkais 2)

The speed of the object remains
.constant

The net force acting on the object
s zero

The acceleration of the object is
constant

.The object must be at rest
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